SA: DED

HY: NSHHE HH(>SLDE/HENE - 2F[SIIEH)

EHe: WSnSAHlA &a

SA-FH . 9(3) - HREAY - BHES Off &4 N3 Husz
=N 14,137,572 13,470,757 666,815
= 547,154 659, 145 A111,991
X 370,000 140,000 230,000
A 200,000 200,000 0
& 13,020,418 12,471,612 548,806
NEHH N (S DE/HENE - SRSJIE) 13,488,347 13,051,532 436,815
= 547,154 659, 145 A111,991
=S 12,941,193 12,392,387 548,806
HEuSAMHA & 2,966,347 2,529,532 436,815
= 547,154 659, 145 A111,991
S 2,419,193 1,870,387 548,806
HsnE MHlA JHe 877,400 507,400 370,000
207 A FOHEHI 30,000 0 30,000
01 Ax2ESH 30,000 0 30,000
OusAi OlsEe & XNENHE 89 30,000 0 30,000
308 Xt XISHHSOIE 190,000 0 190,000
01 IXNESHHMBHEES 190,000 0 190,000
OHAl JtE++2 XE 190,000 0 190,000
403 A XIEHH S K201 618,000 468,000 150,000
01 HXIEH 22 618,000 468,000 150,000
OHANZ2=EMNAL E58 2Y &1 150,000 0 150,000
MaA cAEX(=20) 147,447 390,632 243,185
= 92,154 244,145 A 151,991
=3 55,293 146,487 291,194
403 XX &M S K201 A 147,447 390,632 A 243,185
= 92,154 244,145 £A151,991
== 55,293 146,487 291,194
01 HXStHAH2EE 147,447 390,632 A243,185
OMAHA £¢ 147,447 390,632 A243,185
= 92,154 244,145 A151,991
= 55,293 146,487 291,194
SENsSH EAEX(3D) 90,000 30,000 60,000
= 60,000 20,000 40,000
== 30,000 10,000 20,000
403 XIS SIH=0IH 90,000 30,000 60,000
= 60,000 20,000 40,000
S 30,000 10,000 20,000
01 XSHHMIA=2EX 90,000 30,000 60,000
OSg2us+t &Y 90,000 30,000 60,000
= 60,000 20,000 40,000
& 30,000 10,000 20,000
SOHEXS S| 2EA| 750,000 500,000 250,000
308 At XIHMSOIA 750,000 500,000 250,000
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SH: DED

ns
HHY: DEYH N (+=SLNS/UHENE - ERSIIE

EHe: HEusSAHHlA gd (&9

2A -3 - (33) - NHRANY - BES Ofl k24 N Hus2
Ol IXSHHBAEES 750,000 500,000 250,000
OSHEXS YA X 750,000 500,000 250,000
CENEY HS (5L VE/ER) 620,000 390,000 230,000
X 370,000 140,000 230,000
s 200,000 200,000 0
=S 50,000 50,000 0
e &s 620,000 390,000 230,000
X 370,000 140,000 230,000
& 200,000 200,000 0
== 50,000 50,000 0
OgloI2sY LA (=D) 370,000 140,000 230,000
Xl 370,000 140,000 230,000
403 XX &M S =01 ™ 370,000 140,000 230,000
X 370,000 140,000 230,000
01 AXESHMA2E X 370,000 140,000 230,000
ONE0IESTHMLAMNS 370,000 140,000 230,000
X 370,000 140,000 230,000
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